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Vus = 0.2262 ± 0.0011

Vus = 0.2192 ± 0.0035

Vud = 0.97425 ± 0.00022

Vub = (3.93± 0.36) 10 3
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RX =
B( X )

B( e e )

Rμ = 0.9796 ± 0.0016 ± 0.0036

R = 0.5945 ± 0.0014 ± 0.0061

RK = 0.03882 ± 0.00032 ± 0.00057

B( μ μ ) = (17.46 ± 0.03± 0.08)%

B( ) = (10.59 ± 0.03± 0.11)%

B( K ) = (0.692 ± 0.006 ± 0.010)%

B( e ) = (17.82 ± 0.05)%



B( μ μ ) = (17.46 ± 0.03± 0.08)%

B( ) = (10.59 ± 0.03± 0.11)%

B( K ) = (0.692 ± 0.006 ± 0.010)%
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f (x) = 1 8x + 8x3 x4 +12x2 log x
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= 1.0036 ± 0.0020
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Radiative corrections: 

= (0.16 ± 0.14)%       K = (0.90 ± 0.22)%
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SEW

SEW = 1.0201± 0.0003

Vus = 0.2193± 0.0032
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f 2
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2 /m2 )

(1 m2 /m2 )
(1+ LD )

fK / f = 1.189 ± 0.007

LD = (0.03± 0.44)%

Vus = 0.2255 ± 0.0024
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 s inclusive
 0.0035)±(0.2192 

KBaBar, PRL accepted 
 0.0032)±(0.2193 

Unitarity
 0.0010)±(0.2255 

 / KBaBar, PRL accepted 
 0.0024)±(0.2255 

 decaysl2K
 0.0013)±(0.2252 

 decaysl3K
 0.0013)±(0.2254 



B( μ μ ) = (17.46 ± 0.03± 0.08)%

B( ) = (10.59 ± 0.03± 0.11)%

B( K ) = (0.692 ± 0.006 ± 0.010)%

Kaon BF           : Vus = 0.2193± 0.0032

Kaon:Pion BF  : Vud = 0.2255 ± 0.0024


